AP Macroeconomics            Mr. Sadow          Chapter 6 Extra Credit #1 of 3
Show your work and put the answer on the line.



Name: _____________________________
Include specifics, like %, $, and amounts (80% or $10 million).

Period: ____

***This is due on or before the day of the test review

The Marginal Propensity to Consume and the Marginal Propensity to Save
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1. if you earn $100 more and spend $40 more     MPC= ______________
2. if you earn $80 more and save $20 more         MPS= ______________
3. if you spend $20 more and the MPC= .5         change in income= ______________
4. if you save $100 more and the MPS= .2
       change in income= ______________
5. if you earn $150 more and the MPS= 1
       change in spending= ______________
6. if you earn $100 more and the MPS= .7          change in saving= ______________
7. MPC or MPS= .5


       MPC or MPS= ______________ because combined they must equal _______
